Worksheet—Study of eugenics
Use of spreadsheet program 
genetics eugenics.xls
will help in understanding. Pick a value for fraction of B-alleles. Spreadsheet simulates next generation.  The assumption is that all BB people will be sterilized.  Use result for next fraction B.  Observe how fraction of B alleles goes to 0.  A web search for eugenics will help in appreciation of this topic.
Suppose in the current generation, 50% of the alleles are A and 50% are B.  Suppose 1000 children are born to the next generation.  As before, this means 

P(AA)=0.25, P(AB or BA)=0.5, P(BB)=0.25
1) How many of the 1000 children do you expect to be AA?  AB or BA?

2) Only the AA, AB and BA children will be allowed to reproduce as adults.  How many alleles do the AA, AB, and BA people have combined?  How many B alleles do they have?  What fraction of the alleles do you expect to be B?

3) Suppose that P(B)=1/x so that P(A)=1-1/x.  Compute the following. (We don't need to compute P(BB) because all BB children will not be allowed to reproduce, so will not be in the genetic pool for the next generation.)
P(AA)= ?      and      P(AB or BA) = ?
Given that 1000 children are born

#AA children = ?     and      #AB or BA= ?
Total number of alleles  = ?
Total number of B alleles = ?
fraction B-alleles
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4) Given that currently, P(B)=0.04, how many generations will it take until P(B)=0.02? until P(B)=0.01?
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